Приложение 4 (FCE, Listening part 4)
You will hear a radio programme about education. For questions 1-7, decide which of the choices A, B or C is the correct answer.

1. What did Mark not expect to like?


A wearing a uniform


B having less freedom


C working hard

2. One thing Mike liked about the clothes he had to wear was


A they were very attractive.

B they stayed cleaner for longer.

C they were practical.
3. What does Mark say about the work he had to do?


A It was quite varied.

B It seemed irrelevant.

C It was confusing.
4. How has learning French changed, according to Hannah?


A Pupils now learn language that is more useful.

B Pupils now learn less vocabulary than in the past.

C Pupils now are much better at learning languages.

5. What does Hannah say about the maths lessons from the past?


A She and her classmates had forgotten the right methods.


B She found it very difficult to understand the questions.


C The pupils were able to copy each other’s answers.

6. Gareth says that teachers in the past


A were less interested in their pupils.


B knew less about their subject.

C had less training as teachers.

7. How does Gareth say that relationships between pupils have changed since the fifties?


A Pupils helped each other more back then.

B Boys and girls understand each other more now.


C There was more bullying then.
